LGS -2y, (Qlung simle|)
Part-B (General Studies)

sfsvndsen 1 101-200 Quongs wH LG usteer : 150

Questions : 101-200 Total Marks : 150

T e

e e

101. The “Detroit of Asia” is
(A) Hyderabad (B) Chennai
(C) Mumbai (D) Surat
(E) Answer not known
“gflwrelar @urgmin’” aerpepésiu@id Gub
(A) eansyTUTE ~ (B) Qeenenar
(C) qpbenu D) @vs
(E) eflen Gaflwelldane

102. How does Thiruvalluvar guide us to overcome trouble?
(A) Giving trouble to the trouble (B) Fighting trouble
(C) Accepting trouble (D) None of above
(E) Answer not known
gleTugms GTeUGT) Qaudae Cougr@id arany SHaiar@hait Qg;ﬁmﬂu@&gu@mm'w
C(A) genughng gemid Cerhisse (B) el Gumrhise
(C) g lu qﬁ}gm@u;n;'rr@f,g,m (D) agndlamea
(B) aflanl GaMualdae
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103. In which model of elections, the President and the Vice-President, the

members of the Rajya Sabha are elected?
(A) By-Elections

(B) Direct Election

(C) Indirect Election

(D) Mid-Term Polls

(E) Answer not known

GRuIsEs SO LHpIb Foar Guurss gowel, BT TEhodan Gdsamu

2 piSleniaer pem epatd GairktsHés u@Harmart
(A) Ben_sCsrpdser

(B) Gprys Caisd apenp

(C) wapess Coige e

D) @eLoumas Carsasdr

(E) eSen Qsfletcrene
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104. Which of the following statements is/are correct?
1. The term of office of the Governor is five years

2.  He can remain in office till his successor enters upon the office of

the Governor.
(A) Both 1, 2 are correct
(B) Only 1 is correct
(C) Only 2 is correct
(D) Both 1, 2 are incorrect

(E) Answer not known

Glerau(mbd smppisaie sreney Fflwiners ?
1. eyensiler ugails b RHE pem{H &6

2.  oyeppfler usells stab pueteLbs Curdlanb i SeenT 6i@HUeIT

ugelCwh@Eb ey ugeluiie QAsmidpmi
(A) 1,2 spdw @rarGiGu &
(B) 1w @ sl
(C) 2 br@n af
D) 1,2 du GrerHGuo saug)
(B oL Qshudsss
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105. Match List I with List II :
(a) Right to equality
(b) Right to freedom

(c) Right to constitutional remedies

(d) Right to freedom of religion

@ ® (© (@

o - L |
@)L 4. P
e N Bl [
14 o SRS, QT AU

(E) Answer not known
g I g IT o e Qunmsgys

(a) swszeu o Menio

(b) &spdr e fanwo

() ewfuaemoldpeErulf ey
sramiib o fenw
(d) sow s5p8r o e

@ ® @@ @

Ay 2" 8uiid 1
By 1 - -4 3 2
dorae "
D) 4 by o 3

(B) efler. Gafwelaoena
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Article 25-28
Articles 14-18
Articles 19-22
Article 32

eildlser 25 pse 28 eueny
ailflmar 14 (psé 18 euenry

fglser 19 apzd 22 euany
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106. Find the simple interest of Rs. 7,500 at 8% per annum per 1 year 6
months

(A) 70

(B) 700

(C) 800

(D) 900

(E) Answer not known

@.ﬁ;ﬁ{]ﬁf—é;@] 8% ey alsbd @m aumLb 6 wishsEsstar gall el g@wd
ETETS )

(A) 70
(B) 700
(€) 800
(D) 900
(E) efleor Qaflwefama

107. Find the LCM of 3(a-1), 2(a-1F, (2> -1)
(A) (a+1) (a+1)
(B) (a-1) (a+1)
(C) 6la-1)(a@+1)
D) 6la-1) (a+1)
(E) Answer noi:, known

3(a-1), 2(a-1Y, (az—l) -et 558 m Quing DLEE STems
@A) (a+1) (ar1) '
®) (a-1f (a+1)

(C) 6(a-1)(a+1f

(D) 6(e-1) (a+1)

(E) <fen Qaflweidane
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108. The present ages of Reena and Usha are 24 years and 36 years

respectively what was ratio between the ages of Usha and Reena, 8 years

ago
(A) 7:4
B) 6:5
(C) 2:3
(L) 4T
(E) Answer not known

fewrr wHmd 2 esreflen gHCurmsy awgssr woapCu 24 a@mLrbser WhHmiLh

36 aumLisdr aafld 8 yarBaEnsE pary 2 aer wHmL farreder LG safl e

s ereamains @) mmdmsEio?
A) 7:4
B) 6:5
o 253
D) 4:7

(E) dfler Qgflwefdaa
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109. A can do a piece of work in 20 days and B can do it in 30 days. How long
will they take to do the work together?

(A) 10 days
(B) 12 days
(C) 11 days
(D) 20 days

- (E) Answer not known

A eeuari g Gauamaay 20 prisdgn, B aauai =G Gaumeew 30
prisefigyd Geig @peouniss. sweusdpamb Coibg sciGaimwanus Gewg)
(Pl &5 THEHEne BT HET 5 &b 7

(A) . 10 priser
(B) 12 praer
00 11 g

(D) 20 pm_ser
(E) eflen Qzfweilcene

110. If 14 compositors can compose 70 pages of a book in 5 hours, how many
compositors will compose 100 pages of this book in 10 hours?

(A) 12
(B) 10
(C) 8
D) 7

() Answer not known

14 ssss Carrouaisar, b wefl Crrsdd @@ ussssler 70 UsEREmaT
gour. 10 wefl  Cprsfe. 100 uvssmsmar @rbs TEEmE  JFHS
%rrr‘rmusuﬁasm Caenels ? i

(A) 12
(B) 10
€) 8
D) 7

(E) oflen Qaflwaildana
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111. The population of a city in the year 2014 is 1,80,000 and increases at a
rate of 20% per year. Find the population of the city in the year- 20167

(A) 2,40,000
(B) 2,59,200
(C) 2,55,000
(D) 2,54,300

(E) Answer not known

@ bersdler wasdr Ggrens 2014-@ 1,80,000. =im qaGeaunm ear@in 20%
GLm@LoTanTe 2016-ob e[ wedr Asmans erener?

(A) 2,40,000
(B) 2,59,200
(C) 2,55,000
(D) 2,54,300

(E) oo Osflweildana

112. What is the importance of Thirukkural as a secular literature?

(A) Reading Thirukkural strengthened the secular vision of the
founding fathers of our nation

(B) Itsfocus on human welfare

(C) Being secular, its values are not just confined to any particular
religion and it is applicable to the entire humanity

(D) All the above
(E) Answer not known
wpEeniupy Gosslub aap eaamswler Smagpeflar apsflugsaid wimrg ?

(A) Amb@per ardliy piog BrieL sllmbss Smoersaer IDEE ETILHD
sanevloeni eusdlenriu( s8ug

(B) wray pamar waflnssin sellggeub

(C) s em GALAL s wLHIS wbsrer Basdunbrsead Blevarg WwrgyL tb
WPuennéEib Gunmbgib seaflsgied

(D) Cumasair SiPeTSS)LD
(E) der Qsfuaddaama
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113. A man bought an old bicycle for Rs.1,500. He spends Rs. 500 on its repair
and sells it for Rs. 1,800. Find the percentage of his loss

(A) 10%
(B) 15%
(C) 20%
D) 5%
(E) Answer not known

erat m. 1,500 &5 e@m vepw Bdadaryeu eaurmwd da . 500 &g

upssamer Sa@domt. (pyeiled oeur oips Waargeamu m. 1,800 & cdipdprr
erafle euT e Wb Beis ssilflgsass sram

(A) 10%

(B) 15%

(C) 20%

D) 5%

(E) a&flen. Qsfweldene

114. O° Longitude and O° Latitude is located in
(A) Central Australia
(B) Brazil
(C) Atlantic South and West of Africa
(Dj South Pole |
(E) Answer not known

0° §rés Cravaswd 0° @ils Cranawb srewliLBeug
A webu oSG

(B) 9Cyéla

(C) Gaér o ewramgs whmb GuoneE < uffésn

(D) Qgar gipeutusaien

(E) ofleor Qaflweldema
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115. Swine Flu is caused by

(A) Rubella virus

(B) Rhino virus

(C) HINI1 virus

(D) Alpha virus

(E) Answer not known

wardl smiFsane) 2 (Heurd@D eneuen
(A) mueer eeure

(B) enyCanir emeupav

(C) HINI1 avauren

D)  wosur emaire

(E) &flerr Qaflweidena

116. Which of the following fact is incorrect about monocotyledonous plants?
(A) Seed has single cotyledon
(B) Leaves have parallel venation
(C) Fibrous root system present
(D) Flowers are pentamerous

(E) Answer not known

Gereumio prallsHency sreurisdr upBlu spmseald seuprag g ?
(A) Aop grdsfavayu Qardr g

(B) @ewesafée GaartiGurses srouesna) stariu@ns

(C) sodlGais QsmEuy sramiu@dng

(D) misms wair srewriupdns)

(E) el Qeflweidana
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117. Kamaraj served as the Chief Minister of Tamil Nadu for

118.

(A)
(B)
(€)
(D)
(E)

T years
8 years
9 years
10 vears

Answer not known

SUIDET g6 (P& TS aTormmT ugell adiss.

(A)
(B)
(©)
(D)
(E)

T sumLrhigan
8 cumLrhiEeT
9 eumLrser
10 eumL_nusser

ailen Ggflwaidena

GST came into effect on _ in India

(A)
®)
(©)
(D)
(E)

29% March 2017
15t July 2017

29t March 2016
15t July 2016
Answer not known

GST @idwraila pe_qpamnssE cibss

(A)
(B)
(©)
(D)
(E)

29 wmig 2017
1 gg9amay 2017
29 wrirs 2016
1 szs9ana0 2016
eilenL Qaflwedene
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119. Which of the following statement is not correct?

(A)
(B)
(©)
(D)
(E)

Indus Valley People used burnt bricks

This civilization flourished in India about 4700 years ago
Harappa in Sindhi means “Buried City”

Hundreds of square seals were discovered here

Answer not known

Spsarr sappsafies g seumneng ?

(A)
(B)
(©
(D)
(E)

Abg swlleust waser &1 Qemspsamars LwaLE s e

swomt 4700 syemBsense ey @bsraflsd warbss)

anyuur eren &phE Glom s CerdaisE “Lmgu e BErb” erarLig Guinmen
85|71 augellorer pipmésansaTen (psH@mrsdr @Qk@ sand_@asuur Hdarg
dilen Gsflueldena '

120. Which article of the Indian Constitution talks about “Taxes levied and
collected by the Union but assigned to the states”?

(A)
(B)
(C)
(D)
(E)

Art 201
Art 269
Art 272
Art 268

Answer not known

“wdu eiremd elfssiu Qb agaEsiLL P, LINQRsESE GEE6E sl
aeriiser LpHl GHOGAED @pdu sirflumeniiy st ST sTE e Wrg ?

(A)
(B)
©
D)
(E)

KXXX/2021

#1és 201
guhg 269
syhg 272
FrEE 268
sllen Glsflweidrena
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121. Chennai becomes the Indian city with metro Railway.
(A) First
(B) Fifth
(C) Sixth
(D) Second
(E) Answer not known

@pHw serelled, Geerenan pand, Awl Cyr Gruile Ceeen Gamar
msmn@m

(A) wserag

(B) mpsrem

(C) woreaug

(D) @rarraug

(E) ofen Qpflwellaana

122. How many political parties participated in the 1951 First Indian General
Election? -

(A) 54
(B) 64
(C) 174
(D) 84
(E) Answer not known

1951-epip wem® meoLQuiy apsd @Qodw GQurgs Gshsdd Gumiguliie
FHU_SGET erHEane ?

(A) 54

(B) 64

(C) 74

(D) 84

(E) eflean Gsflweticoana
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123. Who is the first Indian transgender to be honoured with ‘Padmashri’?
(A) Satyasree Sharmila
(B) Prithika Yashini
(C) Narthaki Natraj
(D) Tamilselvi
(E) Answer not known

“uglo allmia Cupp opsd Gnduw ﬁtﬁﬁrfﬂm&.mﬁ?
(A)  swgs egndarn

(B) Qfsdsr wreflaf

(C) prssdl plomg

(D) s lps Qsaed

(E) fer Gsfucidamea

124. During 1857, the peasants had to pay heavy taxes in the form of
(A) Land Tax
(B) Customs duty
(C) Revenue Tax
(D) Service Tax

(E) Answer not known

1857—a @uwurarauisdr siflawnrs Gogiss Ceusmguimis el
(A) fle af

(B) &ms aifl

(C) aumworer aufl

(D) Gsereu suffl

(E) el Gsflweideana
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125. Home rule league in Bombay was formed by
(A) Bharathiar
(B) Mrs. Annie Besant
(C) Nehru
(D) Tilak
(E) Answer not known

uburuie gerenm§ spasas Carhpaldseu
(A) umBwrf

(B) &mwd. sienefl@Quasin

©) Gpw

D) Sost

(E) e @sflweldena

126. The Central Vigilance Commission was established on the
recommendation of

(A) Administrative Reforms Commission

(B) National Development Council

(C) Santhanam Committee on Prevention of Corruption
(D) Law Commission

(E) Answer not known

Gpellen Lfbgieaguien wipuueL e widu sarsTartlli
SLED@MILLD DENDESILILL S

(A) dliauns Fidmss <yeamiib
(B) Csflu evenirédls @

(C) spgrammd sampd sHOL G
(0 oo et

() efenr OsMwaiena
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127. The Chief Justice and other Judges of the Indian Supreme Court are
appointed by

(A) The President

) The Attorney General
(C) The Governor

(D) The Prime Minister
(E) Answer not known

=

@ipdlu ods fhodr gowemo ALY womd Gp fHudsemer Bubiiuea
(A)  Bnurss sl

(B) gaoaaw anpsEamrent

©) wyepr

(D) Qg

(E) efe Qpfwelidiena

128. Which Amendment has made provisions related to Nagar Palika’s
(Urban Local Governments)?

(A) 73 Amendment Act
(B) 75% Amendment Act
(C) 74% Amendment Act
(D) 70" Amendment Act

(E) Answer not known

“pair unells” S smiHE s — Sy @b,
(A)  73eug s Hmssid
(B) 75aug sl Amssd
(C) 74aug st HAmssid
(D) 7oeug &L 51@-,55@
(E) oflen QaMuweildwens
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129. Which Union Territory has its own elected Legislative Assembly?

130.

(A) Chandigarh

(B) Lakshadweep

(C) Puducherry

(D) Daman and Diu
(E) Answer not known
Epssetaupmer erps wellwar rGasb garsbady wisamd CaibEsEasuuL
sl L warpib Glamear_g

(A) sergsi

(B) evssSeysen

(C) uygeCaf

(D) modr wppid Lis
(E) &fen Qaflweicaeana

Who was the best commentator on the Thirukkural?
(A) Kalamegapulavar

(B) Agastiya

(C) Parimelalagar

(D) Kambar

(E) Answer not known

Hmaspdr Gss Aphs flaés e apullaer 2 (heurddlwmum wm?
(A) srerCusiiae

(B) sissvduwir

(C) ufGuapsi

(D) sbur

(E) eflen Gaflweileanc
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131. In Lok Sabha, how many members are elected directly by the people?
(A) 453
(B) 354
(C) 543
(D) 545

(E) Answer not known

waserepauiley  wéserme  Cpryurs  Cerpls®astu@n e pinSearisefen
araenil&ans ereuauaTe?

(A) 453

(B) 354

(C) 543

(D) b45

(E) eflen Gasflueldena

132. Which article of The Indian Constitution deals with fundamental rights?
A 14
(B) 19
(C) 32
D) 51(A)
(E) Answer not known

@pFu erflueewiddan apbs if ogluaL e lowvsmer GHlss dasEdng ?
(A) 14

(B) 19

(C) 32

(D) 51(A)

(E) eflar Gpflusiiaoamae

XXXX/2021 44



133.

134.

(E) oL Qsfweidme

Find the LCM of ¢, b* and a’b’

A) o'b?
(B) &’
©) o
D) ab®

(E) Answer not known

e b L miLd a’b’ -ar 18.8.10 a;rreﬁ'ﬂ&;.

(A) o'’ | e

(B) aSbT
€) o
D) o’

E) dor Gsfusiadme

4 typists are employed to complete a work in 12 days. If two more typists

are added they will finish the same work in days.
A 7 |
(B) 8
#0). 9
(D) 10

- (E) Answer not known

4 g1 &eirger @ Cousmaew (plyss 12 praser aHsgstamardamert. Guoab, 2

gL L gerger smbhsorss Cemsre, G5 Camawan — —— — prsgafler Gaug
- (WPlg LILIT.

@ 7

B) 8

© 9

(D) 10
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135. If 5 persons can do 5 jobs in 5 days then 50 persons can do 50 jobs in ——

days.
(A) 5
(B) 25
(C) 50
(D) 55

(E) Answer not known

5 puiser 5 Camesamer 5 pratsafier CQelg ulur eeafl® 50 pufssr 50
Gauamersenar ————— pratseiled Qelig wigliuf.

(A) 5
B) 25
(C) 50

(D) 55
(E) den Gsflueioemen

136. How many terms of the series 1+5+9+. . must be taken so that their
sum is 1907

A 7

(B) 8

) 9

(D) 10

(E) Answer not known

1+54+9+..... aatp Qsrifle eagpwen zplusomeads smlgamd smpsd 190
dlenL_s&@&ib.

Ay 7

(B) 8

© 9

(D) 10

(E) el Qsflwaldana
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137.

138.

3 3
%

s Y
xX—y y—x

Simply :

(A) 2 +ay+y®
(B) =% -xy+y?
) & oyt
() 2’ vy
(E) Answer not known

3 3
X
A

xX—3y y-=x
2

F(HH&HS

A x*+xy+y

B) 2*-xy+y?

(C) =*-xy—y°

D) #Fray-y°

(B) e Gsflweloena

Which right has been abolished by the 44% Amended Act, 1978?

(A) Right to freedom of religion
- (B) Right against Exploitation

(C) Right to Property

(D) Right to Constitutional remedies

(E) Answer not known

19786 44aug STHlue@LLLF L Hhssssanig basiur L o fleow g ?

(A) swvws sspdrsdosrear o Mo

(B) spemee s@uuspater 2 faw

(C) Qsmsgfenw

D) erdueeoly el Siaysessstar 2 famw
(E) &l Qsfiweiebenen

47
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139. ‘The Right to Information Act’ was passed by parliament on
(A) 20 October 2005
(B) 21 October 2005
(C) 25 October 2005
(D) 12 October 2005

(E) Answer not known

“ssaid eflub o Aews & b” unymepoamide BepCappuur L prer
(A) 20 2&CLrui 2005
(B) 21 =&Curuir 2005
(C) 25 =sGLruf 2005
(D) 12 @&GLTUr 2005

(E) eflen. Opflweiidema

140. The first state to be created on Linguistic basis was
(A) Kashmir
(B) Tamil Nadu
(C) Karnataka
(D) Andhra

(E) Answer not known
apger Guomfairfl wrflon erg ?
(A)  smeiglBi

(B)  sblippn@

(C) sipr_an

D) ypdlor
(E) &l Gafushoma
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141.

142.

Who was called “Madurai Kondan”? -
&) Aditya-I

(B) Rajarajan-I

(C) Raja Raja-II

(D) Parantaka-I

(E) Answer not known

“Logieny QsTeRTLTen eretl LSUILILL QT WmiT?

(A) wserd hHsHwur

B) epsembd Grrmyrmer

(C) @uew_rbd @rreyree

D) wsemb uyTHss6T
(E) oo Qsflwefeoema

Headquarters of West Central Railway
(A) Mumbai '

(B) Hubli

(C) New Delhi

(D) Jabalpur :

(E). Answer not known

Cuop@ wsHu TulaCauder semaenudiib
(A)  pbau

(B) abuiafl

©) ug QLo

D) guoy

(E) oferr Qsflwcidama

49

XXXX/2021
[Turn over



143. Indian Constitution Drafting Committee's Chairman
(A) Dr. Rajendra Prasad
(B) Jawaharlal Nehru
(C) Dr. B.R. Ambedkar
(D) Gandhi
(E) Answer not known

@pfu sirflueaniy amres Gupeia smaair
(A) Lt @rGaidr Grens

(B) geanierd Crm

(C)  vmair. sy, sdGUSSTT

D) smhd

(B) efleo Qsflwelidamea

144. Article 63 of the Indian Constitution refers to
(A) Vice-President
(B) President
(C) Prime Minister
(D) Governor
(E) Answer not known

@bl sirfwe sieninlear srsg 63 @HUGHeus)
(A) gi@ar G4 LTES s
(B) @yurs soea
(C) gz wpH
(D) sp@mpir
(E) efen Gafluslaama
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145. Who is the chairperson of Niti Aayog?

A)
(B)
(©)
D)
()

President

Prime Minister .
Vice President
Supreme Court Judge

Answer not known

Bl CGuins —@err genaveui wim?

)
- ®
(©)
D)
(®)

146. Which Mughal King killed the Sikh Guru Tegh Bahadur?

(A)
(B)
©
D)
(E)

§58L & Casy LsgTeT GsT@e GE (PSOML WETETT W ?

(A)
(B)
(©)
D)
(E)

GlLITE Seaa

Az wHSl

SO (ST SO
2 5 fflwerp FHug
e Qzflueiome

Akbar
Aurangazeb
Shahjahan
Jahangir

Answer not known

DAGLIT

GemyrsFL

AgTEETET

@Mk

ellenL. Qsflweiwena
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147. Which year has a special significance in Indian Economy as far as
Economic Reforms are concerned?

(A) 1952

(B) 1981

(C) 1991

(D) 2001

(E) Answer not known

Qidw  Qummenstises Qurpgsemmnfe ks eEd  QurEeTTémy
St mpssDe péfluggand amins geEprED 7
(A) 1952

(B) 1981

(C) 1991

(D) 2001

(E) oo Qsflueidama

148. Net National Product is
(A) Gross Domestic Product — Depreciation
(B) Gross National Product — Depreciation
(C) Net National Product — Depreciation

(D) Net Domestic product — Depreciation
(E) Answer not known

By pri 6 e push crans

(A) Guigs edpr® e pusd — Counoreand
(B) Qungs pm_@ 2pupd - Cailiorans
(©) Py i@ 2.pusd - Coiionend

(D) Ha7 edpn @ epusd — Caliorard
(E) efenr QsfAwuciidrenay |
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149. When a person lives below the minimum subsistence level he is said to
live in
(A) Absolute poverty
(B) Relative poverty
(C) Abstract poverty
(D) True poverty
(E) Answer not known
aunbeusie Ceudtipw G@nisuls asds@s@s SCp et TP amienio
Hleneen @leueuimn Fanevmb
(A) @@m@mnﬂn QUMIENLD
(B) euir@ aupew
(C) &més awmeann
(D) o cwenw eumenio
(E) oflen Qafwcldena

150. The chemical name of Aspirin 1s
(A) Tartaric acid
(B) Benzoic acid
(C) Acetyl salicylic acid
(D) Per chloric acid

(E) Answer not known

s iler LEpHEt CaBiGLw
(A) Lmrimflé sbled

(B) Quenenruds =iflaibd

(C) =fe o sradflells sl
(D) Quir Carmiflé wpfed

(E) &flenr Qgflueidrena
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151. Plant diversity is greatest in
(A) Tropical forest
(B) Temperate forest
(C) Deserts
(D) Farmlands
(E) Answer not known

greuy Leauasanin e sflanrs areariiu@eag
(A) Geulu wearL® sTEsE

(B) 185 Qeutiu weir_e sr@isser

(C) ureaaeamtsdr

(D)  efeusrw Hemser

(E) &llen Gsflweilivenay

152. Which of the following disease spreads due to the contamination of
drinking water and milk?

(A) Scurvy

(B) Malaria

(C) Dengue

(D) Typhoid

(E) Answer not known
tlenaymeaneunmier, Gybi whHmh uned wrsuRegrd LTaussmigu Grmi g 2
(A) evasred

(B) wCeflwim

(C) Qg

D) erumi®

(B) dflen Qafweildene
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153. Lord Cornwallis introduced the
(A) Ryotwari system
== (B) Jagirdari system
(C) Mahalwari systerh
(D) Zamindari system

(E) Answer not known

sirameuradleny Gy Cerer® eubss
(A)  rwsgiardl genp

(B) grélismi pop

(C) wadaurf wep

(D) gbargril wem

(B) oo Gpfuaideme

154. If the cost of a dozen soaps is Rs. 396, what will be the cost of 35 such
soaps? - |

(A) 1515
(B) 5511
(C) 1155
(D) 5115
(E) Answer not known

em Lean Ceriiyseflen elena ap. 396 earafley 35 Caruiysafler ellene eretren ?
(A) 1515

(B) 5511

(C) 1155

(D) 5115 _

(B) e Qsflueideame
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155. What sum of money will earn Rs. 500 as simple interest in 1 year at 5%
per annum?

(A)
(B)
(C)
(D)
(E)

Rs. 50,000

Rs. 30,000

Rs. 10,000

Re. 5,000

Answer not known

e hE 5% ey eigsgde @i pdmane @ 500 @5 sefl algurss seib
S|FE) GTAUGUETGY ? '

(A)
(B)
(C)
D)
()

em. 50,000

5. 30,000

es. 10,000

em. 5,000

sllen_ Gzfwefdenen

156. A person decides to create a fund to be invested at 10% per annum to
provide or prize of Rs. 500 every year. The Initial investment is

(A)
(B)
(€)
D)
(E)

Rs. 4,000

Rs. 5,000

Rs. 61,000

Rs. 5,500

Answer not known

@G puT gebarm ean@r @ 500 ufls akEashsrs sarBae 10% e
weopdld wsd® Aeiw g Fdow 2 maurss e Qsudprt aeafld bl
ApFE ([ Ereims

(A)
(B)
(©)
D)
(E)

XXXX/2021

es. 4,000

em. 0,000

m. 61,000

ep. 5,600

ellen_ Qsflweildeama
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157. Find the LCM of the following :

(A)
(B)
- (©
(D)
(E)

x% - 27, (x-3)*x* -9
(x=3)(x+3)(x* +8x +9)
(x-3)% (x* +3x+9)
(x—38)*(x+38)(x*+3x+9)
(x-3)%(x+3)(x®*-3x+9)

Answer not known

Wemeupeuameupdln B.8.10. sres ;-

(A)

(B)
©
D)
(E)

x? -27,(x~38)*x* -9
(x=3)(x+3)(x*+3x+9)
(x-3)2(x% +3x+9)
(x—3)% (x+3)(x*+38x +9)
(x—38)% (x +3)(x* —8x+9)

eflen @sflweilerene

158. Which of the following schedule deals with language?

(A)
B)
(©)
(D)

(E)

Memaumib it euenewrsafled Gomfblaer uHHiL i L euenent 6TFl? -

(A4)
(B)
(©)
D)
()

Eighth Schedule
Eleventh Schedule
Fourth Schedule
Sixth Schedule

Answer not known

CTL LM <3| L oenenT
LHCarTrTeug i L 6len e
BITGITSHITEIG] <BiL_L_6L6n 6T
SHDTEUGH <D{L_L_ 616w 6uT

cilenL @g;rﬂmsﬁd)mw
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159. According to Thiruvalluvar ‘What is friendship with the good compared

I =
(A) Having friends who make our heart happy
(B) Having books that five perpetual delight
(C) Having a face that shows anger
(D) None of these
(E) Answer not known
LudlevEgmmd  weRreL et - QsmLfy  ereslt GureTpg  ear  SHmeudt@neuit
En IS DT ?
(A) oisms BULg Curemng
(B) pefleGgmmb mre swin Cureng
(C)  Aameneseiy Bl e iuGsrr Card Curanps)
(D) Qaupded ggbama
(B) &flen Qsflweiaena

160. The Comptroller and Auditor general of India is responsible only to

(A)
(B)
(©)
D)
(E)

The President

The Prime Minister
The Supreme Court
The Parliament

Answer not known

Qipdus gooomws sansE LHOL goldmss HeD B@OEUT  WTHSE
Glummt et _wiGui ?

(A)
(B)
(©)

(D)
(E)

XXXX/2021

(G\qWifard Sencdel it
s janinsei

o kg Bdlinemmid

LI T@hLoE LD

ellant Glsfliuefdrene
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161.

162.

In which of the following day onwards the use of plastic was banned_ in
Tamil Nadu?

(A) 15t August 2018
(B) 1stJanuary 2019
(C) 96t January 2019
(D) 10th August 2018

" (E) Answer not known

SODETLIgd  eremdlelphg  Germevigs  GQum@pLsdT  LweTUBOSFIeUG Sl
Cawul Hererg) ?

(A) 15 =y&6vl. 2018
(B) 1 gemaufl 2019

(C) 26 sameu 2019
(D) 10 =ysavl 2018
(E) oL Qsflueldpame

When was the first Nuclear test conducted by India?
(A) 1998 '
(B) - 1999
(C) 1974
(D) 1975

(E) Answer not known

ans turrsﬁrre‘n GThS U@TH WPHET WPODWITE G AP Corgeman BLSSILILL ) ?
(A) 1998

(B) 1999

(C) 1974

(D) 1975

(E) oQen Qgrﬁumﬂ@mm
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163. Choose the correct term from the following :

“The quantity of heat required to raise the temperature of a body
through one degree”

(A)
(B)
(©)
(D)
(E)

Heat conduction
Heat radiation
Heat convection
Heat capacity
Answer not known

&G Gar@ssiiur Derer sahm asmel @blésdns)

" Qurmeller . Geiufloomu gn 4Efl ewrsmasheEs Cseatiuiin
Gauiuwr@Eh”

(A)  Geniu sLggd

(B) Geuiin sdieiss

(C) Geuliu Feemb

D) Qauiis gpysHper

(E) &fen GgRuwiedrena

164. Which one of the following is the storage form of carbohydrate in plants
and also the principal source of energy in the diet?

(A)
(B)
(©)
(D)
(E)

Glucose
Cellulose
Starch
Fruetose

Answer not known

LSleirau (meu ameu g 6 saurmhiget e smirGum-enant Gy Hsefler Canfliiy
Gummermse b e amap L sfle <y mmeile (poeien ggryorsab dlemii@ag g ?

(A)
(B)
(C)
(D)
()

XXXX/2021

GlenCaman
GFdgCama
HIFLD

Ci7&GL mei

dilenL Qaflweldeana



165. The exchange of genes between the homologous chromosome takes place
during the stage of

(A) Zygotene

(B) Pachytene

(C) Diplotene

(D) Diakinesis

(E) Answer not known

255 ST 2 LW &CrGunCenbaErss QoL Cu sar wrppbd HeLQumibd
CELCHS |
(A) owsCsmear

(B) Cus@Siedr

(C) wuGarmee

(D) LUJHG&)&;GG&@SIGFU_

(E) eSeni_ Gg‘,ﬁ]u_leﬁéoma)

166. Jawaharlal Nehru was born at
(A) Aurangabad
(B) Agra
(C) Srinagar
(D) Allahabad

(E) Answer not known

gouapirerd Cum KWpbs e
(A) @ermsTung

(B) SLETIT

(C) Brar

(D) ewsrurs

(B) ofer Qsfwelérene
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167. Where is Chauri-Chaura village located?
(A) Madhya Pradesh
(B) Uttar Pradesh
(C) Gujarat
(D) Maharashtra
(E) Answer not known

Qeearfl-Qaeryr Symiob eriiE SiewbscTeTE ?
&) wsBu ArGssod

(B) =50 GrCsen

©) emms

(D) wargreisym

(E) dieo Qsfuclame

168. Name the state where the high quality black mica is obtained in India?
(A) West Bengal
(B) Uttar Pradesh
(C) Bihar
(D) Andhra Pradesh

(E) Answer not known

@idurcie =fls snd mnips sGewuTar @wdsr ais wriesde BoHs
Hev_&dma 7

(A) Cuome eunismend
(B) esdr Sy Caeid
€) Ssm

(D) =pdy QrCsebd
(E) el Qsflueiaeame
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169. Features of Indian federal system are

1. Division of powers

2.  Separation of powers

3. Independent Judiciary

4. Leadership of the Prime Minister.

5. A Written Constitution
. (A) 1,2and5 (B) 1,3 and 5
(C) 1,4and5b (D) 2,3and 5
(E) Answér not known

@bslw &LLLI’TLEHUQGET Apliuberisamaramay

1. @fsm Gfay

2. wlsm Ldiay

3. sspdyorar fhodpid

4. Qpgwfler sgmamio

B erpsLILLl L i rflweentoli]
@) 1,2 wppo 5 B L8 ahpn b
(©) 14oppo5 (D) 2, 3 wpgid 5

f

(E) oo Qsflweilcrene
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170. A man saved Rs.16,500/- in ten years. Fach year, after the first, he saved
Rs.100/- more than in the preceding year. Find his savings in the first

.year.

(A)
(B)
(©)

(D)
(1)

Rs.1,100
Rs.1,200
Rs.1,000
Rs.1,250

Answer not known

el 10 eparhseile CGsins Gursss Csres 16,500/ Waed aumLsdhEL
SinE @ealenm @b homsy ara il p.100/- sFsors Gaslssmd
s aymL GFbliy Qaranasanus &ras.

(A)
B)
(©)
(D)
(E)

5. 1,100
.1,200
. 1,000
m. 1,250
allenL Caflweldhena

171. Find the principal that will yield a simple interest of Rs.300 in 3 years at
2% rate of interest per annum.

(A)
(B)
(C)
(D)
(E)

Rs.5,000
Rs.3,000
Rs.2,000
Rs.1,000
Answer not known

SarH el cigb 2% g 3 (e gefl iy @5.300 faLseEh aalld
SEFMQ S SIS,

(A)
(B)
(©)
(D)
(E)
XXXX/2021

e5.5,000
153,000
ir5.2,000
a5- 1,000
elant Gafluaiiame
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172. A shopkeeper allows a discount of 10% to his customers and still gains
20%. Find the marked price of an article which costs Rs.450 to the
shopkeeper.

173.

(A)
(B)
(C)
(D)
(E)

@0

Rs.500
Rs.550
Rs.600
Rs.650

Answer not known

SOLESTTT ST euUMySsLTaa@ide 10% HE@bUL SHSIWD 20% Eomud

S fepiri. g Qummellen e amenwn sllewe @;.450 erafled, Sitummefler Ghl5s

(A)
(B)
(©)
D)
(E)

. efleneueniu s SITemaE.

er.500
&5.550
e.600
e5.650
aflenL Ggfwealldena

Find the sum to infinity of the series 108, 36, 12, 4.....

(A)
(B)
(©)
(D)
(E)

Qerau@pd i eieds Qamfer m@sd srars 108, 36, 12, 4.....

(A)
(B)
(€
(D)
(E)

216
162
160
256

Answer not known

216
162
160
256
aflan_ G gflweliidana
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174. 32:13:29?
A) 10
(B) 85
(C) 42
(D) 12
(E) Answer not known

32:13:29?7

(A) 10

(B) 85

C) 42

(D) 12

(E) ofenr Ggfweddens

175. The average of first 100 natural numbers is
(A) 55
(B) 50.5
(C) 51.5
(D) 50

(E) Answer not known

(P& 100 @uwieh eTeiseten Frmeilwireng

(A) 55
(B) 50.5
(C) 515
(D) 50

(E) eflen Qzflwaiame
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176. The cost of 15 chairs is Rs. 7,500. Find the number of such chairs that
can be purchased for Rs. 12,000

(A) 24

(B) 26.

(C) 28

(D) 30

(E) Answer not known

15 prpsrelseflanr ollewe ep. 7,500 erafléd ep. 12,0008@ essanar BrHETESE
QUITMRIGHE)TLD ?

(A 24
B) 26
(C) 28
(D) 30
(E) oo Gsfwueioeame

177. (@ 968) + 79 x 4= 512
(A) 10185
(B) 10190
(C) 11080
(D) 10180
(E) Answer not known

(?__ 968)+ 79 x4=512
(A) 10185

(B) 10190

(C) 11080

(D) 10180

(E) eflar Gsflweldrens
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178. Which one of the following is not in the state list?
(A) Fislheries
(B) TLocal Government
(C) Taxes on mineral rights
(D) Maj or ports

(E) Answer not known

Shsam_eupmier erg wrflol Ly udle Coyrss ?

(A)  Bend Gsmble

(B) e drarmdl eipemusn

(C) saflomsear Bgrar eufl o Manwser
(D) @wadlu seopapsn ser

(E) eflenr Qsflwelcvane
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179. The Sarva Shiksha Abhiyan programme is being implemented since
2001 for the significant objective of

1. New Schools

2 1Residential faculties

3. Transportation or Escort facilities

4. Uniforms and free -meals

Which of the statement is incorrect?

(A) land?2 (B) 2and 3
(C) 3and1 (D) 1 and 4

(E) Answer not known

gireu Haagr Qurer AL (Searama@hd sdall FiLb) 2001 b e
WPED SPpOUESSLILLL seit apsdlin CHrésid

L. ydw udraflser

2. ueralufe s umré;@d:; cusd gpubisgise

3. urgisrUULen duigwl CUIrEGTSS |

4.  SmeL whpid wHu = ey

&Gip o drer sapbier ergl [ areveu sflwnarene @w?

(A) 1 wpmwbd 2 © (B) 2 npmibd 3
(C) 3uwppwl - _ (D) 1 whmib 4
(E) e&flen Qaflwelléane
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180. When did the ‘National Commission on Floods’ set up in India?

(A)
(B)
(©)
(D)
(E)

1982
1996
1972
1976

Answer not known

wrafléd eruGurg “Ceflu Qeudrer @piias @up” Hmeuliul Lg?
& 5 b G

(A)
(B)
(C)
D)
(1)

1982
1996
1972
1976
eflen Qsflweldana

181. The control rods is a nuclear reactor

(A)
(B)
(©)
(D)
(E)

absorb neutrons
accelerate neutrons
slowdown the speed of neutrons

absorb excess heat produced in the reactor

Answer not known

SIEDI&(H 2 amauiléd o arar sUHOUN G Candasdr

(A)
(B)
(C)
(D)
(E)

XXXX/2021

Blujc pranseer o Hlgheaid

by grersaflen Caisgans <ifsfssh

Bl yranaafldn Ceusgms GanéEid

2 el GeueflwmEn wifls earey Geuliugas o MErsd

alilen_ @Azflweiloene
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182. Which Round Table conference was participated by Gandhi?
(A) First Conference
(B) Third Conference
(C) Second Conference
(D) None
(E) Answer not known

e eu L Ginengy L[!I'I"I_'gﬁ‘i'_lq_'{;'ﬂ snhdl sabg CsramTT?
(A) @pged wIETH

(B) epeprd wrpr@

(C)  @uer_mb wrpr®

(D) geapddma

(E) eflerr Qzflwelerensw

183. Which of the fﬂllowing mode of transmission cycle is exhibited by Dengue
Virus?

(A) Man-Man

(B) Man-Birds-Man

(C) Man-Mosquito-Man
(D) Man-Pig-Man

(E) Answer not known
Epsaar_aupmdr Qg meurd abg spHdl apespuid LTesng ?
(A) waflger-wafgen

(B) waflgar-upma-wafzan
(C) weailsen-Csire-oeflsar
(D) eflgen- sl -nafliger
(E) &flen Ggflusiidveama
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184. According to the 2011 census the lowest density of population is recorded
in the state

(A) Mizoram

(B) Sikkim

(C) Arunachal Pradesh
(D) Nagaland

(E) Answer not known

2011 b @R wEHser Hgnens sardGas@Ubdary., Gopeurel LESET s
udley Gelwiiuc L wrflen

(A) OCsryb

(B) #adib

C) smanmssa GrGgsab
(D) prerewrbs

(E) efler Gsflwaiidana

185. Which 1s Gypsum among the following?
(A) CaCo,-2H,0
(B) Ca(OH),
(C) Cas0, -2H,0
(D) MgSO, -7TH,0
(E) Answer not known
SILFD aarug Sipsaam_eubble erg) ?
(A) CaCo,-2H,0
(B) Ca(OH),
(C) CaSO,-2H,0
(D) MgS0, -TH,0
(B) ofler Qafweidaena
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186. Who was the founder of Suthantra Party”

187.

(A)
(B)
©)
(D)
(E)

O.P. Ramaswami
P.S. Kumara Swamy
Rajaji

Kamara)

Answer not known

sgpSrr s Aews Compmedsseuf wim?

(A)
B)
©)

(D)
(E)

O.P. groemd
P.5. @wrremi
rrepredl
STLONTER

aflen Qsflweildaeame

The first Metro Rail Project was commissioned in India in the city of

(A)
B)

(©)

D)
(E)

@pHwureild apser apgalld Qo Grm guilée Sk Se@wssLuLL BETD

(A)

(B)

(©)

(D)
(E)

Chennai
Kolkata
Delhi

Mumbai

Answer not known

Qeemanest
QanasssT
lL_cbebl
(pLbents

eflenL Qsfweldena
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188. What 1s the genome of AIDS virus made up of?

(A)
(B)
(©)
(D)
(1)

DNA

RNA

Chromosome

Gene

Answer not known

el av eneurel ehe sl Cammiomed =y eng;) ?

(A)
(B)
(©)
D)
()

DNA
RNA

@&CyrGnGemb

sl
ellenL Qs flweldena

189. Find the odd one out Related with heat in one action

(A)
(B)
(©)
D)
(E)

Conduction
Convection
Absorption
Radiation

Answer not known

Camu B @muues ser i
GeuliuggiLer bupsSILT LG - g Gsweea

(A)
(B)
(€)
D)
(E)

XXXX/2021

HLHEHe

FQELD

2 U salfrge

sdlialse

aflent_ Glgflwaildemen
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190. Which one of the following is correctly matched?

(A) Ettayapuram —  Collector Ash

(B) Jallian-Walah Bag Tragedy —  Hunter Committee

(C) Swaraj Party —  C.R. Das, Motilal Nehru
(D) Prohibition — V.0. Chidambaranar

(E) Answer not known

Gemeupeuareupmier erg sflwrs CunmbdlueTeang ?

(A) en_Liwymb - sles T 6y

(B) greflwer eurerurd gumb —  aperLf sl

(C) swrmmu &8 —  C.R. grev, Gurdlard i
(D) wmoss -  aLo. eﬂglj}ugﬁmﬁr

(E) eflen Qsfliclldrana
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191. Which among the following food chain is an example for Grassland

ecosystem?

(A) Grass - Deer - Fox — Tiger

(B) Grass - Grasshopper — Frog - Snake - Eagle
(C) Grass — Frog - Snake -» Elephant

(D) Grass —» Cattle —» Lion

(E) Answer not known

Spsameint_cunmiar YeGleual wem_ewsdlen 2 ae s shiflal era 7

(A) yev, e, B, el

| (B) ye, Qaur @pasdaf, Sauanar, LML, S(HE

(C) uye, seusver, LMby, wWirener

(D) yea, sreopmLser, Hrsd

(B) efleo Qgflweldama
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192. Usually the i)opulation of a Corporation is

(A) 5 lakhs
(B) 7 lakhs
(C) 8lakhs
(D) 10.lakhs

(E)° Answer not known

FNFTIERTLONS 6 WIB&TT._Huller wEser Ggrens

- (A) 5 @L&b
B) 7 ersb
(C) 8 eLen
(D) 10 elsbd

(E) oo Qsflusfaome
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193. The First five year plan of India was launched in
(A) 1947
(B) 1951
(©) | 1956
(D) ;961

(E) Answer not known

Bpdwrele apsend pisTaT@S LI BeOL(pDULOSSIULL 60

(A) 1947
(B) 1951
(© 1956
(D) 1961

(E) oo Gsfwelerene
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194. Language 1s the means of
A Tra-gsporf
(B) Irrigation
(&) Commqnication
(D) Spirituality

(E) Answer not known

@mrr@ GTenLIg)

(A) Cuns@anss

(B) Sruursand

(&) @mmﬁuq$5@a9
D) a_mﬁm.mla;,frmwnm@-

(B) oo Qsflweldae
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195. Which gas is release the refrigerator?
(A) CH,
'(B) Cl
(C) H:
(D) CFC

(E) Answer not known

@aflrgrsany QuL i ulelmbe CeuelGuipib eumuy erg)?

(A) CH: .
B) Cl
(C) H,
(D) CFC

(E) e&leor Qsflweieena
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196. The Governor is appointed by

A)
(B)
(©)
D)

(E)

i udge

Prime Minister
Chief Minisfer
President

Answer not known

SLEBBeT HluwlLier

(A)

(B)

(©

(D)

(E)

ﬁﬁU@'

Grso whSlfl
(PSQ A LDFET
GUTES Hemmault

eSlenL_ Ggrﬂm’@fﬂeﬁmml

31
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197. Forty-Second Amendment Act came into force in the year
(A) 1947

(B) 1976

(C) 1967

D) 1958

(E) Answer not known

42-qug) s SBHHD pOLPOnEE wbs 66
(A) 1947

(B) 1976

(C) 1967

(D) 1958

(B) &len @sfuaidma

198. The First Indian Governor General of Independent India was
(A) Lord Mountbatten
(B) Lord Rippon
(C) Rajagopalachari
(D) Lord Canning
(E) Answer not known

sgbAr @idureder wsd @pHw seutant bgarrd
(A) Quere GuiLer Gy

(B) Muuer Gy

(C) @ong Caruneésm

(D)  sraflis Qg

(E) &l Gsiweiidaeamen
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199, The major port along with West Coast

200.

(A) Kandla
(B) Chennai

(C) Paradip
(D) Kolkata

(E) Answer not known

Buwh@ L hHeconulleo Semwbgicrer Gufhu GiemmpsD
(A) asetor’_eom

(B) @&ssremeot

(C) umo &0

(D) @snéosdan

(E) aflem @siflweshlcosmeo

In the year 1951, Population growth rate is called
(A) Year of Great Divide

(B) Year of Population Explosion

(C) Year of Population

(D) Year of Small Divide

(E) Answer not known

1951 opib pasor(y) whset Orems Oumss dofsb Seuaurm
SicossiiuhiSing

(A)  Gugpb Giflsllenesr &, (b

(B) wéasdr GgTems Gleuig.UiL| B,60or(hH

(C) dsdr @prons Bpar()

(D) Sy Slerey 2 ar(p)
(E) eflen @sflwaieocmneo
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